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Thomas : Attention's Blind Spot article

(vacabulary, inferencing, meaning & =AX)
The Tlpping Point : p.15~p.19:3, p.30~p.33: 20| A] 4=HRY
E, p.59:11(It's possible~)~p.62: LA 3R &
SEE7HF5282200) : Dayl ~ Day7

SEvoca 02| : dayl ~ day 12
ZZ0|E X|&
Ofg|AE"”e A X2
T571E2 0|2} 62 01 ~ 06 (62¥)

134 3, 5-8, 14-16, 22, 23 (102%)
Xl p.1 ~ 12(A False Assumption and Two
Misconception F7tX[), p.91 ~ 94

SEvoca 012 : dayl ~day 12
ZIZ0|E X|&
Ofg2|AEHIYA X2
+&71£2 02 6& 01 ~ 06 (62%)

134 3, 5-8, 14-16, 22, 23 (102%)
WX p.1 ~ 12(A False Assumption and Two
Misconception F7tX|[), p.91 ~ 94

1
olr
A[m
N

S 118 ~ 17Z(p.66 ~ 102)
38 ~ 5% (p20 ~ 37)

MAZI A Tr 12 635 ~ 22 20%

M= B Tr 58 1 ~ 64 3% (p.54 ~ 68)

HY=I C Tr oz 18 ~ 121, 102 18, 3

MY D Tr Mini Test 1 (p152 ~ p156, p161 ~ p168,
T p. 16782, =8 T stad RUE Z9)

O{%|(word master) : Day 1 ~ Day 25, (th, Z} Day &0
A Crelo = <)

MAEI A Tr 12 65 ~ 24 205

HE=IB Tr 54 18 ~ 64 3 (p.54 ~ 68)
HEEICTr o 18 ~ 128, 108 18, 3H

M= D Tr Mini Test 1(p152 ~ p156, p161 ~ p168,
T p. 16782, =8 & oS58 fU= =)

O{%|(word master) : Day 1 ~ Day 25 (%f, Zt Day Z0
U= CHo|ol= H <)
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